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Read the following instructions carefully before you begin to answer the questions. This Booklet contains questions in English as well as in Hindi.
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completely banned in the examination halls/rooms,.

INSTRUCTIONS TO CANDIDATES

This Booklet contains 200 questions in all comprising the following
four parts :

Part — A: General Intelligence & Reasoning (50 Questions)
Part — B: General Knowledge & General Awareness (50 Questions)
Part — C: Quantitative Aptitude (50 Questions)
Part — D: English Comprehension (50 Questions)

In questions set bilingually in English and Hindi, in case of discrepancy,
the English version will prevail.

All questions are compulsory and carry equal marks,
The paper carries negative marking. 0.25 marks will be deducted for each
wrong anster.

Before you start to answer the questions you must check up this
Booklet and ensure that it contains all the pages (1-24) and see that no
page is missing or repeated. If you find any defect in this Booklet,
youmust get it replaced immediately.

You will be supplied the Answer-Sheet separately by the Invigilator. |

You must complete and code the details of Name, Roll Number, Ticket
Nimber, Test Form Number in the Answer-Sheetcarefully. Youmust
also put your signatureand Left-Hand thumb impressionon the Answer-
Sheet at the prescribed place before you actually start answering the .
questions. These instructions must be fully .complied with, failing
which, your Answer-Sheet will not be-evaluated.

Answers must be shown by completely blackening the correspending
circles on Side-II of the Answer-Sheet against the relevant question
number by Black/Blue Ball-Point Pen Only. Answers which are not
shown by Black/Blue Ball-Point Pen will not be awarded any‘mark.
A machine will read the coded information in the OMR
Answer-Sheet. In'case the information is incomplete or different from
the information given in the application form, such candidate will be
awarded ‘ZERO’ mark.

The Answer-Sheet must be handed over to the Invigilator before you
leave the Examination Hall.

Failure to comply with any of the above instructions will render a
candidate liable'to such action/ penalty as may be deemed fit.

The manner in which the different questions are to be answered has
been explained at the back of this Booklet (Page No. 24), which you
should read carefully before actually answering the questions.
Answer the questions as quickly and as carefully as you can. Some
questions may be difficult and others easy. Do not spend too much
time on any question.

Norough work is to be done on the Answer-Sheet. Space for rough
work has been provided below the questions.

“Mobile phones and wireless communication devices are

Candidates are advised not to keep mobile phones/ any other
wireless communication devices with them even in:switched

off mode, in their own interest, Failing to comply with this

provision will be considered gs using unfair means in the
examination and action will be taken against them including
cancellation of their candidature and future debarrment from

appearing in examinations conducted by Staff Selection |
‘Commission,”
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} PART - A / 9Tl - &

GENERAL INTELLIGENCE & REASONING / W= Ffgal T8 aekpia
Directions : In question numbers 1 to 6, select the related | 10.  (A) 64 B) 125 {© 144 (D) 343
word/letters/number from the given alternatives.
fE9r : v g 19 6 9% | U v faswedi § 9 wrafyg | 1. (A) Cataract (B) Hypermetropia
=R/ A /'@@Taﬁﬂﬁ‘ll (© Eczema (D) Glaucoma

(A) wifqafeg @®) dregfe
1. 01:08::16:_7 . © A (D) SN
(A) 25 B) 125 C) 64 D) 27
2 B:l6:D:_2_ 2. (4)32-5 @) 4-7 (O 59-8 () 38-6

(A) 120 (B) 128 () 256 (D) 64

3 Many : Germany : : Land : _? 13.  Arrange the following words as per order in the

dictionary.
(A) Land-Lord (B) Plants Sty . .
(©) Land-scape (D) Ireland e et 1 Yt o T s & IR
|
4. Eye : Ophthalmologist: : Music: _? .
(A) Player (B) Pianist (1} CENTRE (2) CENTER
(© Conductor (D) Composer (3) CENTRAL (4) CENTRUM
et RS f e
(8 faere ®) e | U e
(@IEISED (D) FiftdehR 14. Which one of the given responses would be a

meaningful order of the following ?

5. A:B::B:D::C:F::_?2 . (1) Epilogue (2) Chapter (3) Index

(A) D:F (® L:F (O F:L (D) E:L @ Prologue (5 Cover
6. D:B::[:C::P:D::_2 71 fareredl § Q@ -1 fashey 9 fo g oIl ot

Ay Z:E B) X:E © Y:D D) Y:E ef Hy ewia § 2
Directions : In question numbers 7 to 12 find the odd (1) SYHER ) FEmE @) fawg =
number/letters/number pair from the given alternatives.
fader: e 7@ 128, fau e fashedl § 9 fawy gwan/ (4) @ () - SR
a7 T @) (1), (), 4,2, 5) ®) (3),(4), (2, (1), )

i © 6).06) 4, 2,1 ©) 1), (). ()@, 6)

7. (A) Camel (B) Bullock Directions : In question numbers 15 and 16, which one set

© Ionrse D) (;at of letters when sequentially placed at the gaps in the given

(A) = (B) & letter series shall complete it ?

© == () feeett Frder : w dem 15 3R 16 7 el 1 FH-T TR wieh!
8.  (A) ESTATE-TEASET A RFAAR TG A L T SER Sl H [ HW 2

(B) SILENT-LISTEN

(C) PIERCE-RECIPE 15. ab_dda_ccd_bb_d_

(D) EXPERT - PRETEXT (A) cbcba (B) cbbcd
9.  (A) Armour (B) Ring (©) chaca (D) ceaac

(© Necldace (D) Bangle 16.  b_cd_d_bec_cdb_

(A) (B) 3t (A) dbbbc ®) decbd

© ®W O) =& (© bddcb (D) becch

0/\ SPACE FOR ROUGH WORK / 1% amiﬁ fora g
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Directions : In question numbers 17 and 18, a series is
given, with one term missing. Choose the correct alternative
from the given ones that will complete the series.

ot : vy gem 17 3R 18 7 UF rq5hm fer &, Forrdl wm
T 9 Tl few 7T formmedi § & o wet fagen ghw o
FTH Bl UL |

17. 0,6,24,60,120,210, 2

A) 240 (®) 290 () 336 (D) 504

18. 1,2,5,26, 2

(A) 125 (B) 252 (O 526 (D) 677

-19. The price of an article has been reduced by 25%. In
order to restore the original price, the new price must
be increased by :

ToRel a%g 1 F1wa 25% H1 R T §1 g Fd
AW T & e 7 Fiwa i e sqan s

Directions : In question numbers 22 and 23, from the given
alternative words, select the word which cannot be formed
using the letters of the given word.

frder - W Hem 22 @ik 23 F Freforfag fawedi 4 EH
3 T T o TC 9165 o S1erd T WA 60 TE I
Hehdl ;

22,

23.

24,

"Management’

(A) Manage (B) Engage

(O Magnet (D) Gamet
Satisfactory

(A) Fascist (B) Scatter

(O Factors (D) Scarify
Interchange of which signs and numbers would

make the given equation correct :

6+2-3=16

(A) +and —,3and 2 (B) X and +,3and 2
(© +and —,2and3 O) x and —,2and 3

FH-9 8 IR el B R gew 2 @ freiffeg

a1fee ? : YHIHTO FE T ?
6+2-3=16
(A) 66%% (B) 33%% (A) + 3R -, 3312 (B) x 3R +,33R2
© + 3R -, 233 D) x &R —,23R3
1 o, 10
© 9% @) 115% 25. If the words MODERN and ORTHODOXY are
coded as YOUNGS and OGBAOUOML
respectively, how will you code METHOD ?
20.  If“#is the brother of ‘@, ‘#’ is the daughter of ‘@', Ifc MODERN #R ORTHODOXY V=i %1 $ug:
‘$’ is the §ister of ‘#' anld :8;' is the brother of ‘#’ YOUNGS 3R 0GB AOUOMLW'&%’F@TW%&
then who is the uncle of ‘&’ ? METHOD %1 e #ie & fordi 2
T @ TR, @ G, ¢ A e (A) YNBOUO () YNBOAU
TR & FAE R, & T Sima F A (© YNABOU (D) YNBAOU
(@A) = ® % © e D) # 26. If’><’means’+’,’+’means’+’,’—'means’x'
and’+"means’—’,then6X4—-5+2+1="2
21.  Kannais taller than Malik, Dev is shorter than Krish; IfE 7 T 379 - +7 %, ‘T e ? ‘— Y
v;/}hereKas I;rlsh is t;llller glanll\\d/lallit; Vgega is shoﬁer ‘X g IR = Hm e — %\’ T6x4—5+2= 1=7
than Krish but taller than Malik and Dev is taller
11 12 15
than Veena. Who is the shortest ? (#) 10 (B) © ©)
(A) Kanna (B) Malik (Q) Veena (D) Dev | 7. if TRIANGLE is written as SUBJHOFM, how is
N, HEF A Y 38, F9 A S ¥ T9hE g COMPUTERW“Z;“-’ -
e % i & o, R B 4 P e R o WTRIANG;? ! SUBJHORM feret
€ R T, A A AN Y B 0 COMPUTER %1 3 fert e
(A) PDNQUVFS (B) PDQNUVSF
@) ®F|m @) waw O W () W © PQNQVUFS (D) PQNDUVFS
NG 331 % SPACE FOR ROUGH WORK / T% &Td % fof wg ng
Y STuVWAY 2 LA
= pG S Pule T3 5 AP ERT AR
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28.

29,

"You have to follow the symbolic interpretation to

solve the problem.

+ =Greater than ¢ =Not greater than
— =Not less than x =Equal to

| =Less than L =Notequal to,

If xLy + z, which of the following will be implied ?

RS I T A o fIT o71yeht Frefefiag ydisheTes
frd=ad =1 sToamET ¥

+ =9 arferw b =9 1y T
— =% FH T X = SRR

Bk L= SR T
M xLy + 2, @ Freafafaa & @ s m 2
(A) xxy|z B) x—yLz
© xLydz D) x—yxz

Some equations are solved on the basis of certain
system. Find out the correct answer for unsolved
equation on that basis.

FS I T FHfrd sgawen & R R & fau
T E | I SR W o 7t o g e @ wd
I IR |

41-27+34=201, 19—-63 +48 =031,
51-35+63=7?

(A) 149 (B 914 (Q 79 (D) 941

Directions : In question numbers 30 and 31, select the
missing number from the given responses.

fdwr : w1 W 30 3iv 31 # few Ty famedi # @ o i

1 |
30. 15 25 30

60 100 ?

240 400 480

(A) 110 (B) 125 (O 126 (D) 120
3. 6 7 8

36 49 64

18 28 ?

(A) 32 ®) 48 © 53 D) 40

32,

33.

34.

Which of the following pieces will fit in the figure
given below ?

frefefaa sehfa § Si-91 <rmam o S92

Question Figure /999 31175%
Answer Figures /39T 31'@‘%’&7
(A) (B) © D)

Choose from the given diagrams the one that
illustrates the relationship among three classes.

China, India, Asia

few T s § | TR ww <™ @ wEe S s
frefafad = anif & = gey SR

=, YR, Trn
O O
O

O

(A) (B) (©) (D)

Arjun starts from school and walks 4 km towards
west, turns right and walks 3 km. Then he planned
to return back to school, but only in the shortest path.
What is the shortest distance between the school
and the point where he stopped ?

I U TpA T Y& H ¥ ol 4 o,
ufeem S €, R ST qeew 3 fR . =em €
39 9 I TYAE A6 ¥ wHA amw ARy #)
TS S | 3HF el 3R TG T W 9w v

36F 19 AYH g g
(A) 5km/ T, (B) 25km/fF. .
© 16 km/fw . D) 3km/fFH.

SPACE FOR ROUGH WORK / 1% & & forat wme
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35. How many triangles are embedded in the below

figure ?
frfafes smpfa o fra fe fifeg €2
(A) 24 ®) 6 © 12 D) 22

36. How many Rectangles are there in the figure

ABCD?
AP ABCD ¥ ford? s €2

A D

B C

() 9 ® 12 (©11 (@10

37.  Find the figure that best represents the group:
(1) Aeroplane (2) Pilot (3) Sky
THT STHfel ST i Frefefad we #1 waifis auid
L

(1) famm (3) 3T
©o €9
(A) (B) © (D)

38. A manstartsjourney from home. He goes 5 kms to
the north then proceeds 10 kms to the right. From
there he again turns right and goes 10 kms. How
far is he from home ? All distances are measured
aerially.

T MEHT 0 R A1 @ w1 T 98 5 e
SR 1§, 6 10 oot <F2 sar €1 92 @ 5w fire
< e R &R 10 AL werm §) awmd el @
®2 Weft Sl wreufes & @ T s ¥

(2) drFere

(A) V150 ® 200
© V225 ®) V125

Directions : In question numbers 39 and 40, one or two
statements is given followed by two conclusions,
Iand II. You have to consider the statement to be true,
even if it seems to be at variance from commonly known
facts. You are to decide which of the given conclusions/
assumptions can definitely be drawn from the given
statement. Indicate your answer.

ﬁéw:mawwafmoﬁ@maamﬁmw%,
forereh a1 1 e 18R 11 Frerm T2 1 strae) framR
¢ o 9 I ¥ WR TE 9mre: 9 ae @ fire gd
= B SR vl o § o e T aeder B @ w2
fafad w9 9 w&t e/ wm=ra fremen s g 30 orgy
I FI Ffde wifea :

39. Statement: Self-managing people control their
first impulse for action and delay
premature conclusions.

Conclusions:

L Self-managing people do not take actions
without thinking.

IL.  Instantconclusions are taken by self-managing
people.

(A)

(B)
(O Neither I nor II follows

(D) BothIand IIfollow
qFAH : IATH Yot h{A g1t Aford Tgel! H1d-Ion
@1 FfE R € ofR wragd fofg & 4
foreia &d €1
Freend v
L STH-Y&¥H S0 91 Al 99 o &1 5
ol

IL 3TeH Y&iYq 3 9t SAfdl gR1 aerlel Bl
SLESIGES :

(A) Faa Frp | Frererar £

(B) hee frem 11 freperan )

© kY 1o @ ¥ 77 Fraretan |
(D) e 1S 11 2 Frerera § 4

Only I follows
Only II follows

SPACE FOR ROUGH WORK / % &1d & &3 Wi
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40. Statement; Teachers have long known from | 42, Question Figures/ W9 a]@ﬁrqf
experience about the importance of
lp;x:rc;ii;egand emotional engagement in T O/&J\o T
e 98
Conclusions :
I.  Emotional engagement in learning is not as
important as practice. Answer Figures /3TX aﬂw
II. Teachers are aware of the necessity of practice
in learning. T ] T || e ||
(A) OnlyIfollows QOO j &o@ oj ﬁ\.oo 0/2 QOO 0/2
(B) Only II follows
(C) Neither I nor II follows (A) (B) (@) (D)
(D) BothIand IIfollow :
TR : fRrereh R1aio F 1927 ST 1eeAe 7 o Directions : In question numbers 43 and 44, from the given
g ! 39 SREE] T 37 RS ?quﬁ % I | answer figures, select the one in which the question figure
— ishidden/embedded.
LR o T s e seed ﬁr&w:wwuﬁr{gﬁﬁnﬁwa@&mﬁ@w
EHES ‘ I AT T R e ged e fafea 3
1. foer R § S1drd ) STEvTHAl 1 qHG
# 43.  Question Figure /J97 3MTehid
(A) Fad frend 1 Faaa R
®) Fad frsad 11 Feera R |
© fr=Fd17d 1 # | %1 7 freweran |
() ke 1 T& 11 3HT fererd €1 Answer Figures /3T 3T et
Directions : In question numbers 41 and 42, which answer
figure will complete the series.
fder : T S 41 342 H FH-H W AFA 1w B >Q<
T F ? (A) (B) © D)
41.  Question Figures/ W9 3Tehfaal 44.  Question Figure,/ W97 ATEHfd
AN AN AN
(o) o o
Qe e P s Py | 7 %4
N A4 XY
Answer Figures /3% 3TTehaar Answer Figures,/ ST 3{Teh ar
2\ ' 2\
O Qo
K D &
A A '
A B C D
(A) (B) © (D) (A) (B) © D)

- ' SPACE FOR ROUGH WORK / T®% &1 & fed g
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Directions : In question numbers 45 and 46, a piece of paper
is folded and cut as shown below in the question figures.
From the given answer figures, indicate how it will appear
when opened.

ﬁé‘w:wmﬁﬁmeﬁﬁwmﬁa‘fﬁﬁ@m
STTHR TS %] HISH F127 a1 BIa % o1E 98 f59 TN
Arepfa St femrd am?

45. Question Figure /W9 3MTeRfq

Answer Figures /3% 3T ferar

DRI
B R] K] R

o

A
v

RN

(A) (B) © (D)
46. Question Figure/ 999 3T|'§Tﬁ'f
’,’l \\\\ .
Answer Figures /3% 3iTehfaar
3 3 3 &
33w m| |m wl |wu S
3 £ 3 3
(A) (B) © D)

Directions : In question numbers 47 and 48, if a mirror is
placed on the line MN, then which of the answer figures is
the right image of the given figure ?

Frer : w97 weom 47 5Tt 48 & 1fE e ador  MN TE R
T@Wﬁaﬁéﬂéwmﬁfﬁ@ﬁ?—ﬁwﬁrw
ATRfd &1 W& gfafeam gnft 2
47. Question Figure/ W9 3T&fa

M

A |

N
Answer Figures /30T Wﬁ'ﬂf

e

(A)

(B) (D)

48.  Question Figure/ W9 ATHT
M rrrrrrrrrrrrrrrrrs N
Answer Figures /37X W@ﬁ'ﬂf
N A\
@) (®) ©) D)

Directions : In question numbers 49 and 50. Given below
are two matrices each containing two classes of letters from
the alphabets. The columns and rows of matrix I are prime
numbered and that of matrix II are composite numbered.
Letter from these matrices can be represented first by its
row number and next by its column number. Eg.Pcanbe
written as 48, 66, 84 etc. In the following question identify
one set of number pairs out of A, B, Cand D which represent
the given word :

forder : w7 e 49 s s0 % fom

A e fow T, v F el ¥ @ et ¥ R T
%Wﬂﬁtmﬁwmﬁﬂi%ﬁhwn%w:
3R i ¥ gy ge 9§ 1 3Tl | UF 37aR FY
TE ST Wi iR W W Wy wen g avi
THA T | IR % T P A 48, 66, 84 211f Forn 11 v
21 freifefed w7 A, B, C 3R DA @ <t few o v )
< & 3T @ wemst % e § ¥ v gyg B e -

MATRIX/ 319 - 1 MATRIX/ 3¢ - II
2357 11689
2 T[R|[O[M 1| s|alP[E
3|R[O[M][T 6 | E]P|A]S
5/M[T|[R]O 8| P[S|[E|a
7/oIM[T]|R 9|AlE|s]P
49. APES
(A) 46,48,49,44  (B) 69, 64, 66, 68
© 84,86,89,8 (D) 96,94, 98,99
50. ROME

(A) 23,25,27,49
© 57,55,52,88

(B) 64,35,33,32
D) 96,73,77,72

SPACE FOR ROUGH WORK / % %14 & fol smig
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51.

52.

53.

54.

(A) Lord Wellesley

- PART - B / W - &
GENERAL KNOWLEDGE & GENERAL AWARENESS / €9 {H T8 AW SHaRRE

Who among the following introduced Ryotwari
system in Madras ?

(B) Sir Thomas Munro
(O Lord Hastings (D) Lord Cannemara

frerfafas § | feaa g™ o et sreen @
i off ?

(A) AT deuat
© «@iE e

(B) TR UTAY T
(D) @i FAAW

Which of the following elements is obtained from
sea weeds ?

(A) Argon (B) Sulphur

(© Vanadium (D) Iodine

gt S A frafafea § @ $R-9 a e 22
(A) 3 (B) HEH

©Q Ffeem (D) SEH

Which one of the following Committee’s Report
recommended the establishment of the Institutions
of Lokpal and Loka-Yukta ?

(A) GorwalaReport

(B) The Appleby Reports

(C) First Administrative Reforms Committee
(D) Ashok Mehta Committee

Frefafes # @ forg afifa ot fod & deae 3R
R FE3TT BT TSI i FawTie 1 7 off ?
(A) Tiraren far

@) TTued e

(© Y¥H T gur "iifd

(D) ek wEan winfa

In India how many times has the President declared
Financial Emergency ?

(A) Once (B) Twice

(© Thrice (D) Never

R H, Tegafd fera IR fasia emamg fearfa =t Syon
FLIHE 7
(A) THER
© SR

(B) W ER
(D) Ht 7

HDS-2015/Page8

55.

56.

57.

58.

Kolkata is an example of a port.
(A) Natural (B) Riverine
(©) Naval (D) Oil
shictehdl fFd TR & IS T ISR 7 2
(A) Tl (B) T

© -rifr D) d

In which one of the following states is laterite soil
found ?

(A) Kerala (B) Uttar Pradesh
(© Maharashtra (D) Rajasthan

Frafafea ¥ @ forg v o Sewse ) o o 2

(A) A (B) SW YW
(©) He™ D) TsEgH
DTP stands for :

(A) Digital Transmission Protocol
(B) Desk Top Publishing

(O Data Type Programming

(D) Document Type Processing
DTP &1 71 379 2

(A fefSea grafim g

(B) <&k (Y ufsaf¥in

(© SIeT IR WAHT

(D) SleRHE <139 NIRRT

The ‘PURA’ Scheme which envisages the provision
of urban amenities in rural areas in India was
advocated for the first time by :

(A) SriA.PJ. Abdul Kalam
(B) Dr.M.S.Swaminathan
(© Dr. Arvind Subramanian
(D) Prof. Dinshaw Mistri

‘g AR, " (W) ThIW FT TehTerd Teel IR R
1 oft forgd sed § arior & § vl gfawneii i
e R I fean mn § 2

(A) 4TS, 3Tsge wam

(B) BI. TA.UH. Wi

(Q 3. 3Rfae germomay

(D) . ferarm faesh



59.

60.

61.

62.

Match the following works with their authors :
(a) |Gita - Govinda 1) Hemaéhandra
(b) | Yogasastra (2) {Bhaskaracharya
(c) |Sribhasya (3) |Ramanuja ‘
(d) |Siddhantasiromani (4) |Jayadeva

Frfafaa el 1 37 Efaar & 9 faam st

(a) [7frd Thifeg (1) [3weig
(b) [ArTITEA ) | wrewgard
(c) | St @) [THrgS
(d) |FagTafermfor OYSEEE]

(@) (b) © (d)
A 4 o) ©) (2)
(B) @ ) @) (1)
© @ ‘) ©) (1)
©) @ ©) @ 2
A tax is said to be regressive when its burden falls :
(A) More heavily on the poor than on the rich.
(B) Less heavily on the poor than on the rich.

(O Equally on the poor as on the rich.
(D) None of the above

F ] G T 7T S © ST SHehT MR r
(A) ST 1 g § el W agd A = ¥
(B) ST &1 gor ¥ e W 9 HH ULl 8
(© T 3R Rl R THE B9 A ggar €1

©) STF ¥ F +E T ‘
Vehicles use

from behind.

(A) convex mirror (B) concave mirror
(© convexlens (D) concave lens

TR 98 | AW et a&gl Sl <@ & foag feas
T HE E ?

(A) T4 <Y (B) Taad TYOl

(©) 3T oA (D) 3Tdad o

Who was the ruler of Delhi when Ahmad Shah
Abdali defeated the Marathas in the Third Battle of
Panipat in 1761 ?

(A) Alamgir Il (B) Muhammad Shah
(© Shah Alam I1 (D) Jahandar Shah

9 999 1761 o IHIYa =] 9190 SR § %9 I’
sTearel! A WISl &I A, IW wud foodd #1 I
HEA1?

(A) STETHTR 11

(C) W8 AAA I

to see the objects coming

(B) HeHg Mg
(D) STiER WM&

HDS-2015/Page9

63.

64.

65.

66.

67.

National income can be calculated in all except one
of the following ways : '

(A) Sum of all expenditures

(B) Sum of all incomes

(©) Sum of all savings

(D) Sum of all outputs

LT 3719 &1 afehad Frafafad § @ 1 S g
3= asft qlhl @ P S ahar ® ¢

(A) [t == w61 A

(B) Tt YR & 3T &1 A

(©) |l YR & 5=d H1 A

(D) |+t YR & Fefat 61 3w

The duration of the Twelfth Five Year Plan is ;
(A) 1January 2011 to 31 December 2016

(B) 1 April 2011 to 31 March 2016

(O 1January 2012 to 31 December 2017

(D) 1 April 2012 to 31 March 2017

TREd! Gaauig IS ki ey e ?

(A) 15958 2011 9 31 fegar 2016

(B) 13T3d 2011 ¥/ 31 |4 2016

(© 1 e 2012 9 31 fegaR 2017

(D) 13T 2012 9 31 9TH 2017

Which of the following fuels causes minimum
environmental pollution?

(A) Diesel (B) Kerosene

(© Hydrogen (D) Coal

frefafed 4 @ #-91 399 =JHan Taiawr Jguo
e ® ?
(a) S5
© TEgeH

Which element behaves chemically both as metal
and non-metal ?

(A) Argon (B) Carbon

(© Xenon (D) Boron

F-1 ferife it S stenfeards 3 w9 8 Tt
SHIER FIAN € ?

(&) B) T

© S (D) SR

Wings of birds and insects are : |

(A) analogous (B) paralogous
(© homologous (D) xenologous

(B) HUfda
D) HEE

il SRS F TE FA TR T2
(A) g9 (B) STIfRETd
(© TS (D) dreH

-~



68.

\

(

The colour of the carrots is due to the presence
of:

(A) Chlorophyll (B) Phycocyanin

(©) Carotene (D) Phycoerythrin
TR &1 {7 Torgent Hie[er & RO TH1 BaT § 2

(A) FIEA (B) g
© HU (D) PrEHIERIA
69. Which one of the following pairs is correctly
matched ?
(A) ADM Jabalpur case - Rights of citizens under
emergency
(B) Vishakha case - Centre-State relations

70.

71.

(©) IndiraSawhney case - Rights of women at work
(D) Kartar Singh case - Rights of minorities

frefafea & @ F9-8 T8 &1 w& faam fea ™

g2

(A) TETH TEIAR FY - SUEHEE F ARE B
YR

@®) fovmaEn &4 - FF-TF Hay

© 3wt F9 - wEad # afgensti #1 stfuwr

(D) HWR 68 FH - ATHETH HUFR

Carbon footprint can be reduced by :
(A) Commuting by public transport
(B) Using energy efficient appliances
(© Recycling waste materials

(D) Alltheabove

el 7e fog 78 YR F1 fhy <1 9% §2
(A) TR IREET F TE g

(B) Hell-T& ITHLTN H1 FAM Hleh

(C) 3Tufiee qael o1 QA1 Fileh

(D) 39wt

- Which one of the following books has been authored

by Sachin Tendulkar ?
(A) ‘Train to Pakistan’
(B) ‘Playing it my way’
(O) ’India of my dreams’
(D) ‘Untold story’

fretfafea ¥ @ $0-9 75 9fed dgaa g fas
T ??

(&) g TR

@) ‘wETgHE

© ‘dfean s wE g

D) ‘FERE Wrl'

HDS-2015/Page10

72.

73.

74.

75.

Which of the following cities in India have the
Headquarters of more than one Railway
Zones?

(A) Kolkata

(B) Mumbeai

(©) Both Kolkata and Mumbai
(D) Neither Kolkata nor Mumbai

aed ¥ frefafeaa 3 2 e sl § w8 1ty e
3=l o e | 2

(A) HISTHRIAT

®) T

(C) hreTehTal SR = Al

(D) A el 3R 7 qrers

Pachmarhi biosphere reserveisin:
(A) Arunachal Pradesh (B) Himachal Pradesh
(© Andhra Pradesh (D) Madhya Pradesh

RS Sfe FeTT 8 el ferd ¥ 2
(A) FTEUTTA FaH ®) fearad wew
© Y I=w (D) T TeW

Which of the following countries is not an exporter
oftea?

(A) India (B) SriLanka

(© Kenya (D) United Kingdom
frefafad § & #H-w1 <9 91 &1 fafas T8 R 2
(A) HRd (B) #icH

© &= (D) FEes fhren

Hind limbs thumping on ground by a rabbit is a

. behaviour related to :

(A)
(B)
©

(D) surrender to a stronger opponent

TEi g fee offf 4 SHH W er % fad
TG SATER & ?

(A) FOE-IT=l

(B) TSl ! =dqTaA Hohd

(OEERSEHER S IGRIETE

(D) wiferaener fodiel & wnet gadoy

courtship
warning signal to members
preparation for a duet



76.

77.

78.

79.

80.

Which one of the following features is absent in a
virus ?

(A) Fully parasitic in nature

(B) Reproduce within host cell

(O Presence of either DNA or RNA

(D) Presence of cell wall

foqumy ¥ frafafea & @ w-d = favar =&
=l ?

(A) @9 | T T WSt

(B) TLArs IR F ofiet g

(O DNAITRNA &1 Hie[emil
(D) Hif¥rerr fafa &t dieet

The 2016 Olympic Games shall be held in which of
the following cities ?

(A) Rio de Janeiro in Brazil

(B) Los Angeles in USA

(© Toronto in Canada

(D) Madrid in Spain

2016 % 3ieifys g frefafea § @ frg o §
e forg st 2

(A) sSie ¥ fE-fe-shf

®) st # wfe dfie

© eI H IR

D) w4 Afgs

Chief Justices of the Supreme Court hold office till
they attain the age of .

S ATATEE % Y& A e o i o] qe
U TEd § 2

(A) 65 years/ad (B) 62years/aH

(© 60years/aH (D) 58years/d
Insectivorous plants grow in soil which is deficient
in:

(A) Magnesium (B) Nitrogen

(© Calcium (D) Sodium

Fiewelt 418 fora = =t w9 T’ g § s §2
(A) it (B) FTEZH

©Q Hiczrm D) Hifeam

Which of the following is used as a primary memory
of acomputer ?

(A) Magnetic storage device

(B) RAM

(© Optical storage device

(D) Magneto-Optical storage device

FSR & gigfHes AO & w9 ¥ fefafeg § @
ferreht waimT feman v 2

(A) HHfes @i feama

®

) ek BN fearg

(D) TA-siifeswa LR feard

HDS-2015/ Pagel1

81.

82.

83.

84.

85.

Acid Rain is caused due to pollution of atmosphere
by :

(A) oxides of carbon and nitrogen

(B) oxides of nitrogen and sulphur

(© oxides of nitrogen and phosphorous

(D) None of these

T oot fore wafemor ygwor 4 &t &2

(A) HTET AR ARIINH & AfRaEe

(B) RS 3R Yo & sffamse

(Q ST SR HIEhRE & SAiFiTes

Oy T8 @ ¥ T

The amount of oxygen in the atmosphere remains
relatively constant because it is given off by :

(A) Rocks (B) Animals

(© Plants (D) Oceans

el H AT T A0 iR e @t &
(A) (B) TR

© W8 (D) "R

The Five Permanent Members of the UN Security
Council Are:

(A) Germany, Italy, France, India, China

(B) UK, US, China, Australia, New Zealand

(O China, France, Russia, UK, US

(D) India, China, France, Russia, UK

T T TR&T IRu & Ui T 9o 1 § 2
(A) ST, 3eft, wid, wra, <9

B) ¥, AT, =, sfefe, =sids

© ¥, W™, €9, 4.%., .14

(D) I, =M, iy, &4, .%.

Under whose leadership was the Chittagong
Armoury Raid Organised ?

(A) Rajguru (B) Bhagat Singh
(© SuryaSen (D) SukhDev
i SR W e feraes Sge | a2
(A) TSR (B) wTa &g

© ¥ O) Faa

With which one of the following Jacobson’s organ
isrelated to ?

(A) smelling (B) chewing

(© vision (D) hearing
Stehere 37T fefafed § 4 fras wy gag §2
(A) g (B) =S

© =@ )



86.

87.

88.

89.

90.

Water gas’is the combination of :
(A) COand H,O (B) COandH,
(© COpand CO (D) CO,and H,

et g fordent gae 72
(A) CO3RH,0 (B) CO3H,
(© CO,3RCO D) CO,3H,

Which of the following is a consequence of
inflationary price rise ?

(A) Increase in economic inequalities

(B) Obstacle in development

(©) Adverse effect on the balance of payment

(D) Allof the above

frefafga & @ @ sRifaer o g & 9o
2?7

(A) 3T fawmarsti 4 ofg

®) foewm o s

© T HE R HfRe F9

(O) v T

The country where the national animal is the “sacred
cow’ :

(A) Nepal (B) India

(©) Bhutan (D) Indonesia
forg 291 o1 T Oy ufeE T R 2

(A) U (B) WA

© M (D) Ferfm

The rice is cooked more quickly in a pressure cooker

because:

(A) water boils at a higher temperature under
pressure

(B) itiscovered

(© less quantity of water is used

(D) none of theabove

e JIR Fe B aaferd TSt F il gehar v ?
(A) T <o EH TR TG AT T I Sl § |
(B) I% % B B!

©(C) T T HE W H YA Bl €

(O) 7 § A Fik T

Which one of the following is found in Vinegar ?
(A) formicacid (B) acetic acid
(©) propionic acid (D) butyricacid

T & feafofed o @ o9 O S § 2
(A) HifH® Tfas @) Hifew tfae
© Wi thag D) i tfag

HDS-2015/Pagel2

91.

92.

93.

Cloud burst means :

(A) Abnormally heavy downpour of rain,
associated with Thunderstorm

(B) Formation of artificial rain
(C) Presence of scattered flakes of cloud in the sky
(D) Sowing of seeds of a crop in a cloudy weather

EFGRTE R IR

(A) TIF TEF & 1Y FEERY T § 9 1w
B

(B) i sifer st fmi

(©) mEEF ¥ fawy gu aeal &1 Hisert

(D) Ao Ay # wHa & oftel faem

Who among the following has created history by
becoming the youngest girl in the world to climb
Mount Everest at an early age of 13 7

(A) Malawath Purna

(B) Malti Pradhan

(©) Mayawati Kulkarni

(D) Manindini Mahendroo

Frefafeaa o 3 fFaa 13 od =1 S o a1y ° wise
T W T | fava § wed h Y HI dgh! a7
=1 3ferd TR ?

(A) HiedrEd T

(B) TiETd! Y

(@R RIERERCR

(D) AT Heg

Rate of cooling depends on the :

(A) Temperature difference between the body and
the surroundings

(B) Area of the radiating surface
(C) Nature of the radiating surface
(D) Allof the above

e &1 < fee Wit =@t 82

(A) STET 3T ITH STEU &1 Al & &= qroae ¥
HA

@) fafeoret wdg 1 &
(©) fafsTorrTd ¥ag =1 Yehid
(D) ST |l



94.

95.

96.

97.

The first foreigner to receive Bharat Ratna award
was :

(A) Nelson Mandela

(B) Annie Besant

(©) Khan Abdul Gaffar Khan
(D) Dalai Lama

A T R ¥ gifd gom fagel &9 92
(A) “Toud "3e

(B) T e

Q) T A THERR G

(D) T A

Hertz is a unit for measuring :

(A) intensity of waves (B) frequency of waves
(© wavelength (D) clarity of waves

TS 1 WA 1 g § 2
(A) 7T w1 Ao (B) WM & Tgfa
© WA (D) T HT TR

If a change in all inputs leads to a proportionate |

change in output, it is a case of :
(A) Increasing returns to scale
(B) Constant returns to scale

(©) Diminishing returns to scale
(D) Variablereturns to scale

Ffq g+t frowl § wfads & Fro 3 § gurgawt
Redd B € Al 9% fhad Heag A 99 § 2
(A) Tha H aHaE gfawa

(B) hdl § HATIUIAH Yidhdt

(€ a ¥ Fg9aH gfawd

(D) whd H aftadt gfawa

Which committee recommended for three language
formula ?

(A) Rajamannar Committee

(B) Kothari Committee

(© Dutt Committee

(D) RajCommittee

T g 1 fawiftw forw wfufd 3 =6 ot ?
(A) TSR "iafd

(B) ISRl |fHfa

(© < 9Hfd

(D) TS wfHfd

HDS-2015/ Pagel3

98.

99.

160.

How many times Shivaji plundered Surat ?

(A) Thrice (B) Once
(@ Four times (D) Twice
st 3 foradt IR g@ 1 &1 ?

(A) H SR (B) THIR
© SR (D) AW

On which of the following issues can a Governor
make recommendation to the President ?

(1) Dismissal of the State Council of Ministers
(2) Removal of the Judges of the High Court
(3) Dissolution of the State Legislative Assembly

(4) Declaration of the breakdown of the
Constitutional Machinery in the state.

Select the correct answer using the codes given
below :

(A) (1),(2)and (3) (B) (2),(3)and (4)

© (1), (3)and (4) D) (1),(2)and (4)
frafafaa 8 & fora 78 W Taa Teeufd ! e
FH R & 7

(1) A A 9ftag @ sEfe

Q) IH AT & =R R

() A faum g1 1 fasres

@) T H gifguiiie TERT % o1 g & Hwon

- 9 feu U @IS F AN Bk @l IW Bl 99T

T -
A) (1), (23RE)
© (1))@

® (2),(3)3R@)
D) (1),(2) 3R ()

Who among the following was not a member of the
Drafting Committee of Indian Constitution ?

(A) B.R. Ambedkar

(B} Rajendra Prasad

(©) Gopalachari Ayyangar

(D) Alladi Krishnaswamy ,

fr=fafad # 4 M IRd1E Gfagr 1 geqw |t
% e TE 972

(A) SR TETHL a

(B) TS= JER



101.

102.

103.

104.

105.

- PART - C / 9FT -
QUANTITATIVE APTITUDE / §&THe ARsta

The value of [(.87)2+ (0.13)2+ (0.87) x (0.26)]2013
is:

[(.87)2+(0.13)2 + (0.87) X (0.26)]2013 %1 TH 71 & ?
@) 0 ® 1 © 2013 (©) -1
The angle between the hands of a clock when the
timeis3:20is:

S| wmg 3. 20 5 3 39 g 9 T GEA F Wi
IO o1 B 2

@200 B 10° (©6 (D1
The ratio of the number of boys to that of girls ina
village is 3 : 2. If 30% of boys and 70% of girls
appeared inan examination. The ratio of the number

of villagers appeared in the examination to that not
appeared in the same examination is :

TF Ma § wgwl AR aSfwAl F1 @ *1 U
3:2%)1 A 30% TSH IR 70% wefwar frdt qden
o IS 35 7hen & 937 91t 3R A 93 a1 nigantaat

1 HE&A &1 ST FT B 2
(A) 1:1 ®B) 9:14
© 27:23 D) 23:27

Ina 500 m race, the ratio of speeds of two runners P
and Qis3:5. P has a start of 200 m then the distance
between P and Q at the finish of the raceis:

(A) P winsby 100 m

(B) Qwins by 100 m

(© Bothreach at the same time

(D) Qwins by 50 m

500 Hi. @1 < & 1 urEel P 3R Q T Mfd 1 UM
3:5%1 P200H. 1 WK Ia 8 4 A€ T 81 &
Y P SR Q % o9 fohadi gr €2

(A) P 100 H. ¥ Sfiqan &1

(B) Q100 H. ¥ Sfiaan &1

© = T Ty v €

(D) Q50 . | Sfaar g

4
The simplified value of ' of % X6+ 15—-10 is:

106.

107.

108.

109.

5
If the cost price of an item is 3 of its marked price

and the profitis 20%, then the percentage of discount
is:

At fordft T8 1 T I ITF Afehd gt g%‘
R W19 20% B, A B H1 FfavE 0 82

1

1
A) 33=% 63—%
(4) 33 ®) 637

1, 1,
(C) 665 Yo (D) 705/0

The present price of a scooter is ¥ 7,290. If its value
decreases every year by 10% then its value 3 years
back was :

Th WhX I T FHd T 7,290 §1 IfE ST
afeerd 10% e &9 &1 € @ 3 99 Ige g ge
AT 12

(A) 10,500
(© % 8,000

®) T 10,000
©) T 11,500

A radio is sold at a profit of 20%. Had it been sold
for ¥ 60 more the profit would have been 30%. The
cost price of the radio is :

Tw Wedl 20% & @9 W 991 961 21 A @
% 60 ATYH T =1 S Al A4 30% g1 Byl e
T AT Yo R 2
(A) T 500
© %600

®) T 550
D) T 620

The average run of a player is 32 out of 10 innings.
How many runs must he make in the next innings
so as increase his average by 6 ?

e faerel % 10 il & sfaa w3281 et wia!

%mgxf,ﬂs—lowmuﬁw%? ;qajafhﬁmﬁwaqﬁ@ﬁﬁwmmaﬁmsag
(A) 5 B 6 © 4 D) 3 (A) 6 B) 98 © 38 D) 40
SPACE FOR ROUGH WORK / T® &1 & fod se
A FV
a\ ~ /Q/ nR\S = X
HDS-2015/Pagel4 )‘; o\'yf



110.

111.

112.

The average weight of 3 men A, B and C is
84 kg. Another man D joins the group and the
average now becomes 80 kg. If another man E whose
weight is 3 kg more than that of D, replaces A, then
the average weight of B, C, D and E becomes 79 kg.
Then weight of Ais::

3 SARIHAT A, B 3R C o1 3i9d a9 84 kg § | TH 3R
e D3W 9§ THA B S © SIR 319 H|d o
80 kg & Il ® 1 afg wan iR aneHl E et a5 D
¥ 3 kg ANfUF ¥, A TIH R AR A B, C, D 3R
E %1 3i19d a9 79 kg T A@T 81 A 1 99 fohaa1 8 2
(A) 72kg (B) 74kg

(© 75kg D) 76 kg

Three vessels whose capacities are 3 : 2 : 1 are
completely filled with milk mixed with water. The
ratio of milk and water in the mixture of vessels are

1
5:2,4:1and 4:1respectively. Taking 3 rd of first,

1 1
5 of second and 7 th of third mixtures, a new

mixture kept in a new vessel is prepared. The

percentage of water in the new mixture is:

3:2:17% §HA I qF = i TafE g A RN
gu 1 wda H @ fagor F gu &R U w1 ST

FHI: 5:2,4:13R4:181 U=t fagor 1 %,{{ﬁm

-;. sﬁvﬁzﬁw; ST B T T A T e

T e s €0 1 fago § o o wfava =
qm?

(A) 32 ®) 30 © 28 D) 24

The maximum value of F in the following equation
5E9 + 2F8 +3G7 =1114 where E, F, G each is stands
for any digit ?

frafafad wHi 5E9 + 2F8 +3G7=1114 § F &1
feehad o F 1 ® 2 FEIE, F, G ot off ot & fag
27
(A) 8 ® 7

© 9 D) 5

113.

114.

115.

| 116.

117.

A cando a piece of work in 25 days and B can do the
same work in 30 days. They work together for
5 days, how much of work left ?

A T s 1 25 fe § & geran § 31 B SH &M &l
30 fea ¥ S Twrar § 1 3= fiyere 5 fea wm forar at
fram =0 9 w® T ?

11 12 15 19
@A 3 ® 3 © 3 ® 3

The greatest number by which 2300 and 3500 are
divided leaving the remainders of 32 and 56
respectively, is:

2300 3R 3500 1 for® Hex e 4 fauifer
e e SRt 32 3 56 AN & 2

(A) 42 (B) 84 © 136 D) 168
Rohit sold his car at 10% below the cost price to
Amit, Amit got the car repaired and spent
¥5,000. He then sold the car to Rajesh at 20% above

the total cost. Which is equal to¥1,00,000. Find the
original price of the car (nearest to hundred):

Ufed 3 1ot HR 317 1 A7 4o | 10% FH R
99 1 AMAg F FW FT 9ITHG HEW 7
75,000 @4 fFrl fR 3 9% FR TS99 F Fd
T | 20% fusd W &= faan S € 1,00,000 &
TR B | FRHT A HHa (H F Frehean oI5l )

ATd HIFAT ¢
(A) T 87,000 (B) ¥ 83,000
(© 793,000 (D) % 97,000

If 12 carpenters working 6 hours a day can make
460 chairs in 240 days, the no. of chairs made by
18 carpenters in 36 days each working 8 hours a
day will be :

Ffg 12 9183 6 He gfafed &M w3F 240 7 &
460 FGAT T g € o 18 FE 8 He yfafea wm
Fh 36 g o fopat Fdar s 2

(A) 1320 (B) 1260 (O 1380 (D) 920

Find the rate percent per annum, if ¥ 2,000 amount
to ¥ 2315.25 in an year and half, interest being
compounded half yearly :

i Tg 99 o THE! THglg S W T 2,000 F

iF T 2315.25 8 Sl € O 9 <X 1 gfaes gfavd

ddizq
(A) 5% B) 10%
© 20% D) 11.5%

SPACE FOR ROUGH WORK / T® &1 & fad wmg

HDS-2015/Pagel5



118.

119.

120.

121.

In an Examination there are three subject of
100 marks each. A student scores 60% in the 1¢t
subject and 80% in the second subject. He scored
70% in aggregate. His percentage of marks in the
third subjectis :

T Wen B Ui 100 &7 % oA fomg ¥ 1 O v wwa
fawa ¥ 60% 3R gaX fawa & 80% 1% W &L 2|
Fa et 38 70% 316 W g | e fawd 9 38
SiehT o1 faera =1 @I ?

(A) 60 (B) 65 © 70 D) 80
When simplified, the product
2‘%](2_‘;1(2_2 —% equals
A FH W PERA
2—%)(2"2(2—2 -%g—;- feas
EREE I
1001
A 599 ®) S99
5 1001'
© 3 O =3~

In what time will ¥ 64,000 amount to ¥ 68,921 at
5% per annum, interest being compounded half
yearly ?

TAET 5% Ffaed TwHgfg SIS T T 64,000 F1 UM
o wwa # T 68,921 B STl ?

(A) 3years/ EL| (B) 2years/dH

© 1% years/ T4 D) 2% years/aﬁf

A and B borrowed X 3,000 and X 3,200 respectively

1
at the same rate of interest for 2 5

T 40 more interest than A, find the rate of interest :

years. If B paid

Aaﬂwffz% 9 & faw IR =9 ¥ W FAW:

% 3,000 3R ¥ 3,200 IR forw | afg B3 A &1 qorn o
% 40 1f = fean @1 = <X 91w
(A) 6% ®) 7% © 8% ©) 5%

The bar graph shows the percentage distribution of the
total expenditures of a company under various expense
heads during 2005.

FR-UTE H Tk 91 o 2005 § fafer 7 3l & fqrid g

ERERCURICR eI R I

E 25

F 20 2 0 175

Z15 s

i E E 10

£ 5

L EN-N=N:

(AW 2
é& e &(5@ (é{\éf A ;({2& X eﬁ,\‘\ég‘
g\’»\} é& é\ 5\\ ,\2-* & \’bO ,‘0\)&
i%é@ £ & £ T S
D S, \ oS
<& & O &
?3”\4 Qf’&

Study the bar graph and answer the Questions No.
122 to 125.
TR-TT T AT FIWT IR T F&AT1122 § 125 T TN
i
122. If theexpenditure on advertisementis< 2.10 crores

123.

124.

then the difference between the expenditure on
transport and taxes is equal to:

(A) T1.25crores (B) T 95 lakhs

(©) 65 lakhs (D) X 35 lakhs

Ffe faama W =@ 210 UL 7 dl Iaed 3R &

T G % S ST fohaa g 2
(A) T1L25HIE (B) %95 @@
© T65T@ D) T35@

If the interest on loans amounted to T 2.45 crores
then the total amount of expenditure on
advertisement, taxes and research and development
isequal to:

Ffe HON W =AW T 2.45 F0S T, a1 faqme, w4 IR
FHYM W fosm W= & 3 v fha 79y
gt ?

" (A) T7crores/FS (B) T5.4crores/FS
© ¥4.2crores/ U (D) T3crores/FUZ

The expenditure on the interest on loans is by what
percent more than the expenditure on transport :

I W ¥ W 7Y 9ged | =99 4 fohrad gfaee
arfaer 2

(A) 5% B) 10% (O 20% (D) 40%

SPACE FOR ROUGH WORK / T & & o wg
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125.

126.

127.

128.

129.

The ratio of the total expenditure on infrastructure |

and transport to the total expenditure on taxes and
interest on loans is :

it gfawmei 3k ofitee R $a = iR &4 a0
U TR TS TR F I H T F 8 ?

(A) 5:4 ® 8:7
< 9:7 ®O) 13:11
If secx+cosx=2, then the value of

seclbx + costox will be :
fe secx + cosx =2, Tl seclbx + cosléx T HM T

B ?

(A) 0 ® 1 © V3 2

In the given figure, PAB is a secant and PT is a
tangent to the circle from P.
PA=4cmand AB=xcmthenxis:

& T TG § PAB I &1 B¢ @1 € SR PT e &1
P ¥ Tvlsan ®1 Af€ PT=5 cm, PA=4 cm 3R
AB =x cm, Tl x F1 8111 ?

If PT=5 cm,

9
(A) Z cm

©

é cam (B)
9
2
3 D) 5cm

If sin0 + cos*0 =2 sin6cos?6, 0 is an acute angle,
then the value of tan 6 is:

7T sin%0 +costo =2 sinzecdsze, 6 =7 Hor |, Al
tan 0 T HT9 F41 BN ?

) 0 ® 1 © V2 ©) 2

30 , then the
ar

If the circumference of a circle is

diameter of the circleis:
afe v g 1 iy 20 %, & g9 F = R
T

15 30
(A) 60w B —

130.

131

132.

133.

134.

135.

If the radius of a circle is increased by 6%, then its
area is increased by :

Ffq I ! 51 6% wgl &l S A1 STeHT &THel TRl
g ST ?

(A) 12.36% ®) 15%
© 18.46% ©) 20%
The simplified value of
Jo+2 -2 202
Z+2+B V22— 2+2°
V6+2  J6-2 22
Biid A 2rE T
[LEAThd A1 Faq6Y
A) 0 ®) V2
© V3 ©) 2Ve6

If the height of a pole is 2./3 meters and the length
of its shadow is 2 meters, then the angle of elevation
of thesunis:

I frelt E9 1S9 243 W ? o Suwt weE
i A 2 Wi ®, A G 1 3T 0T foha 319 I
g 2

(A) 30° (B) 45° Q© 60° D) 90°
A circle is inscribed in a square of side 35 cm. The

area of the remaining portion of the square which is
not enclosed by the circleis:

35 cm Y51 916 o § Ueh g1 91 g3 &1 a9 & I
T 1 S 99 | o gen T §, S 9y

(A) 562.5 cm? (B) 262.5cm?

© 9625 cm? (D) 762.5 cm?

If A is an acute angle and cot A +cosec A =3, then
the value of sin A is :

gfe A =T HI T AR cot A +cosec A=3, @t
sin A 1 T 341 8T 2

3 4
(A) 0 ® 3 © 3 D) 1
Ifa=\/i%zi\/i_:_i_,thenthevalueofaz—ax
is:

_Nx+2+Jx -2 2
qﬁa—\/mh\/x___z,ﬂ}(a ax ol HIH |1
B ?

A) -1 ® 0 © 1 D) 2

SPACE FOR ROUGH WORK / % &Td & fad 9g
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136.

137.

138.

The two banks of a canal are straight and parallel.
A, B, Care three persons of whom A stands on one
bank and B and C on the opposite bank. B finds the
angle ABC is 30°, while C finds that the angle ACB
is 60°. If Band C are 100 meters apart, the breadth of
the canal is :

TF A & M1 92 TY iR wHi@ 1 A, B, CTH
=i & 50 9 A T 92 W Tl § 3R BTE C |9
F WG T BH A R F HUABCICHE
Fafeh C &l o7l & fF o1 ACB 60° %1 R |

B 3% C 100 HR g W ¥ & 7 1 AeR foradt €2

(A) 2043 meters/TRT  (B) 253 meters/HX |

meters/ H12X meters /HIR

O 3 © =

In the figure, OED and OBA are sectors of a circle
with centre O.The area of the shaded portions :

frefafaa smHfa §, OED 3IROBA HZ O g9 %
a3 §1 ©ifad 9 H AA% TART

1

@ 5 m’ ® 5 o
11 11

© 3™ © ™

Two circles of diameters 10 cm and 6 cm have the
same centre. A chord of the larger circleis a tangent
of the smaller one. The length of the chordis:

10cm3ﬂT6cmmwa§?ﬁWWﬁaﬁ%l
FEd I HI T AW A HY WA B | Gﬁ’q’rﬁ
g fehai 8 2
(A) 8cm
© 6cm

(B) 10cm
D) 4cm

139.

140.

141.

142.

In a given circle, the chord PQ is of length
18 cm. AB isthe perpendicular bisector of PQ, at M.
If MB =3 cm, then length of ABis:

feg Ty R #, e PQ 18 cm @&l 1 AB, PQFI M
W o fgass €1 afE MB=3 cm, 9t AB &} @48
41 gt ?

(A) 30 cm (B) 25cm

© 27cm (D) 28cm

If x= 1 y= j " the value of

2+3"7 2-43’

Bxy(x2+y?) is ©

aﬁ‘x \/._ y=5o \/— ?‘ﬁ8x1(2+12)?=m
mazn@m? |

A) 196 (B 290 (O 112 (D) 1%

A circle is inscribed in an equilateral triangle of side
8 m. The approximate area of the unoccupied space
inside the tri_angle is:

8 m ! YT I TS s # T g9 s ™
B 1 T & siex famn 9 gon STgwifa &wd foret
qm? '

(A) 22 m? (B) 20 m?
© 21 m? (D) 11 m?
The simplified value of

1 1 _
Rihi-B BB

1 1
NI e A A
FME?
(A) 0 ® 1 © V2 D) ‘\}j

SPACE FOR ROUGH WORK / T% &1 & fod s
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143.

144.

145.

The chord of a circle is equal to its radius. The angle
subtended by this chord at the minor arc of the circle
is:

TF T 1 a1 IH! B F TR B I F A
MY W g Siien gRy $Tdia Hor fehan g 2

(A) 60° (B) 75° © 120° (D) 150°

+c

If a2 + b2+ c2=ab + bc + ca then the value of a
is:

a+tc

g a2+ b2 +c2=ab+bc+ca, A

g ?
(A) 0

bl AF

® 1 ©2 O3

Two circles with centres at O and P and radii
8 cm and 4 cm respectively touches each other
externally. The length of their common tangent is :

O 3R P ¥ a1 TN FH: 8 cm 3R 4 em Tt Tt
3 IT TH TE HI A 3R W oyt w| § 1 IR

IAFTS i Y of i fha T 82
(A) 8/2 cm (B) 8cm
(© 8.5cm D) %cm

Percentage of different types of employees in a company in
two consecutive years is shown below.

mmﬁamﬁmaﬁﬁﬁfwm%mﬁﬁrw

wiea = gwitan 7 2
Total no. of employees Total no. of employees
42980 48640

1997

1998

Study the graph carefully and answer the question
numbers 146 to 150.

T 1 A ST BT SR J97 T 146 T 150 1
IR L

146.

147.

148.

149.

150.

In 1997 the total number of which of the following
types of pairs of employees was approximately equal
to A type of employees in 1998 ?

(A) Band C (B) AandC
(© DandE (D) Cand D

1997 ¥ frefafiga § & fod YR & wH=R el i
H HEA11998 H A TR & FHHATRE! o T SIeR
off ? |

(8) BIARC
© DSRE

(B) A3RC
(D) C3RD

From 1997 to 1998 in the case of which of the
following types of employees the change was
maximum ?

1997 41998 7 fFrefafaa & @ b YR % st
& e § Uied SAfasay o ? .

(A) B (B) D © C D) A

1f the number of D type employees in 1998 was 5000,
what would have been its approximate percentage
in the company ?

71§ 1998 § D YR & =&l &t &3 5000 o,
FUAt H IqRT STTHIA gfawrd feramn @1 @ ?
(A) 12 (B) 14 © 16 D) 10

The number of A type employees in 1998 was
approximately what percent of the number of A type
employees in 1997 7

1998 § A YR o AT 51 W& 1997 § A TR
& HHEIAT BT FE&A 1 a1 foraa gfaema of ?

(A) 115  (B) 140 (O 125 (D) 95

What was the approximate difference in the number
of B type of employees during 1997 and 1998 ?

1997 3R 1998 # B YR & U=l &1 & o

STAIA 3T feferm o 2
(A) 2285 (B) 2325
© 2085 D) 2620

SPACE FOR ROUGH WORK / T% T8 & f&d w77g
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PART - D

ENGLISH COMPREHENSION

Directions : In question numbers 151 to 155, some parts of -

the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the circle

[ @] corresponding to the appropriate letter (A, B, C). Ifa |

sentence is free from error, blacken the circle corresponding
to (D) in the Answer Sheet.

151. The media play/ avital role /

(A) ®)

in popularising a brand. / Noerror

© (D)

152. My friend will not come /

(A)

to attend this marriage /unless he is not invited. /

(B) ©

No error
D)

153. Professor Lal teaches /

(A)

both history as well as literature /

(B)

each semester. / No error

© ©)

154. This is the second communication we have sent /

A

and we are much surprised /

(B)

at receiving no answer. / No error

© D)

155.

She is wealthy /and can afford /
(A) ®

all the pleasures of life. /No error

© (D)
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156.

Directions : In question numbers 156 to 160, sentences
given with blanks are to be filled in with an appropriate
word(s). Four alternatives are suggested for each question.
Choose the correct alternative out of the four and indicate
it by blackening the appropriate circle [ @ ] in the Answer

| Sheet.

The application is as some details are

(A) reverted; few (B) refused ;lacking

(O returned;unfinished (D) rejected; missing

| 157, Ttwas once that being overweight was
healthy _______ nowadays few people
subscribe to this view-point.
(A) believed ; but (B) rumoured;so
(C) speculated ; and (D) joked ; because
158. The of the English language by a host
of new words would the old generation
aghast.
(A) introduction ; surprise
(B) entry;shock
(© invasion; leave
(D) attack; delight
159. He was not to sell the property unless
he got amore : price.
(A) sure;true (B) ready ;correct
(©) prepared;realistic (D) decided ;actual
160. The you have charged for the hotel room
is

(A) charges; mighty (B) tariff ; exorbitant

(©) rent;rich (D) price; costly



Directions : In question numbers 161 to 165, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

161. Enterprising

(A) Doing a new experiment

(B) Taking up a new job

(© Anew venture

(D) Finding out new ways of doing things
162. Opulent

(A) Hard - working (B) Rich

(© Comfortable (D) Obscure
163. Complacent

(A) Confuse (B) Recommend

© Witty (D) Satisfied
164. Visceral

(A) Cloudy (B) Heavenly

(© Bodily (D) Intelligent
165. Recapitulation .

(A) Introduction (B) Capture

(© Withdrawal (D) Recall

Directions : In question numbers 166 to 170, choose the
word opposite in meaning to the given word and mark it
in the Answer Sheet.

166. Abrupt
(A) Rapid (B) Concrete
(© Gradual (D) Obscure
167. Sweltering
(A) Clammy (B) Freezing
© Cozy (D) Smelly
168. Immaculate
(A) Flawless (B) Weak
(© Filthy (D) Strong
169. Accelerate
(A) Descent (B) Delay
(© Quicken (D) Diminish
170. Autonomy
(A) Conformity (B) Dependence
(©) Subordination (D) Slavery
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Directions : In question numbers 171 to 175, four
alternatives are given for the Idiom/Phrase underlined in
the sentence. Choose the alternative which best expresses
the meaning of the Idiom/Phrase and mark it in the Answer
Sheet.

171. I was taken aback when he proposed to marry my
daughter.
(A) surprised (B) shocked
(O pleased (D) hurt
172. Sheplayed ducks and drakes with her money.
(A) did notspend (B) borrowed
(© spent lavishly D) lent
173.  Theminister took a bird’s eye view of the problem.
(A) vision of a bird
(B) see without giving attention
(© ageneral view from above
(D) visualize
174. He is a fine man, but to call him a saint is laying it
on thick. :
(A) A compulsion (B) A development
(O Anexaggeration (D) Areality
175. He had to eat humble pie for his intense rudeness.

(A) earn praise (B) determine

(© modest behaviour (D) suffer humiliation

-



Directions : In question numbers 176 to 180, a part of the
sentence is underlined. Below are given alternatives to the
underlined part at (A), (B), (C) which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

176. Helearnt the lesson with great care.
(A) Withcare (B) Carefully

© Carelessiy (D) Noimprovement

177. No one cared for the boy after his father died.
(A) Took care of the boy after his father died
(B) Cared for the boy since his father died
(C) Took the boy for care after his father’s death
(D) Noimprovement
178. The hawk said that the pigeons and doves are meat |
birds.
(A) Weak birds (B) Meekbirds
(©) Meetbirds (D) Noimprovement
179. The university asked him to return back the funds
allotted for the project.
(A) Tobring back the funds
(B) To return the funds
(© To settle the funds
(D) Noimprovement
180. He insisted to go with me.

(A) Agreedtogo
(B) Insisted that he should go
(©) Insisted upon going

(D) Noimprovement
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Directions : In question numbers 181 to 185, out of the four
alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening
the appropriate circle [ @ ] in the Answer Sheet.

181. A planned route orjourney.
(A) Iterate (B) ltinerary
(©) liinerant (D) Isolate
182. Continuing for a long period of time without
interruption.
(A) Perpetual (B) Continuum
(O Recurring (D) Frequenting
183. Specially skilled in story telling.
(A.)\ anarra'to'r (B) acompositor
(©) avocalist (D) araconteur' -
184. Speech of greatimportance and gravity.
(A) Maiden (B) Monumental
(©) Momentous (D) Momentary =
185. A man who helps a stranger or a person in

difficulties is :

(A) a samaritan (B) amercenary

(©) an altruist (D) astoic

Directions : In question numbers 186 to 190, four words
are given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

186. (A) Sanguine (B) Sanguin
(©) Sanquin (D) Sankuine
187. (A) Phanacea (B) Rhapsody

(O Intrinhsic (D) Soccour



188. (A) Brodcaster (B) Broadcaster
(©) Broodcaster (D) Boardcaster

189. (A) Gonoria (B) Algeimer
(©) Schizophrenia (D) Amnezia

190. (A) Imedeacy (B) Imeadiasy
(O Immediacy (D) Immedeacy

Directions : In question numbers 191 to 195, you have a
passage with 5 questions. Read the passage carefully and
choose the best answer to each question out of the four
alternatives and mark it by blackening the appropriate
circle [ @ ] in the Answer Sheet.

A library is an organised collection of sources of
information and similar resources, made accessible to a
defined community for reference or borrowing. It provides
physical or digital access to material, and may be a physical
building or room, or a virtual space, or both. A library’s
collection can include books, periodicals, newspapers,
manuscripts, films, maps, e-books and other formats.
Libraries range in size from a few shelves of books to several
million items. .

Alibrary is organised for use and is maintained by
a public body, an institution, a corporation, or a private
individual. Public and institutional collections and
services may be intended for use by people who choose not
to or cannot afford to purchase an extensive collection
themselves, who need material no individual can
reasonably be expected to have, or who require professional
assistance with their research. In addition to providing
materials, libraries also provide the services of librarians
who are experts at finding and organising information and
at interpreting information needs. Libraries often provide
quiet areas for studying, and they also offer common areas
to facilitate group study and collaboration. Libraries are
extending services beyond the physical walls of a building
by providing material accessible by electronic means.

191. Inthe passagealibrary has been defined as )
(A) ahighly restricted area
(B)Y a place where accessibility is possible
(O aplace where borrowing is not allowed
(D) ahighly flexible place
192. Whatis the present status and function of libraries?
(A) they have become redundant.
(B) thereisno privacy in alibrary.
(O thereis privacy ina library.
(D) libraries are confinements.
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193. In terms of ownership who can afford a

library ?
(A) anyone
(© only a publicbody

(B) only institutions
(D) only a corporation
194. Who maintains a library ?

(A) arich business family only

(B) a public body, an institution, a corporation or
an individual

(©) only educational institution
(D) any governmental agency
195. Libraries range in size from
(A) oneroomto a great hall
(B) oneroom to several acres of land
(©) afew shelves of books to several million items

(D) afew books to several million books

Directions : In question numbers 196 to 200, in the following
passage some of the words have been left out. Read the
passage carefully and choose the correct answer to each
question out of the four alternatives and fill in the blanks.

Darkness __196 beganto__197 onallsides. So

I could not have any 198 __view of the things that

199 __alongour way. Our train stopped at two important
stations before we __200 _ our home town.

196. (A) incidentally
(©) gradually

(B) initially
(D) prudentially

197. (A) ascend
(© transcend

(B) descend »
(D) condescend

198. (A) distinct
(O precinct

(B) instinct
(D) contradict

199. (A) lay ®) laid
© lain (D) lied
200. (A) havereached (B) had reached
- (O reach (D) reached
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